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SCHOLARS ACADEMY

[ REASONING ]

1. TP $IS YT H, PARTY &I 322364050 & =0 ¥ feram
T 8 | T YT & MAKER 59 UoR forar simeem?
In a coded language, PARTY is written as
322364050. How will MAKER be written in that
language?

a) 262000000

c) 262000000

2. feu U foewul # ¥ I9 F-I BT U B S
mmﬁwﬁgmﬁuﬁwﬁam

b) 262000000
d) 262000000

Select the number from the given options that can
replace the questions mark (?) in the following

series:
3, 4, 12, 45, 196, ?

a) 1030 b) 980

c) 1005 d) 765

3. Y el (x) ® affda e &1 aa7 o9
(@ﬁaﬂmﬁrﬂtﬁ%)l

Select the option that is embedded in the given
figure (X). (Rotation is not allowed).

DA

LU A
)
o9} (1 (1) )
a) | b) Il
c) I d) Iv

4. R Ry T el ¥ & gua I 14 Bifv)
Find the missing number from the below options.
12723
143 21
187?32
9518

a) 8 b) 10
c) M d) 4

5. 71 faenRiaY &t v wam &, 15 faemRiAi 7 A sk B
¥ & yfaafarey # @ feeht & +f v =Y feram
uferaRrar A # 30 faenfat 7w form ok wfeaifar
B # 44 faenfiaY 7 yrT foran Faa ufeafar A &
fpa faenfdat 9 yr foram?

In a class of 71 students, 15 students did not
participate in any of the two competitions named as
A and B. 30 students participated in competition A
and 44 students participated in competition B. How
many students participated in competition A only?
a) 22 b) 16
c) 12 d) 18

a)
c)

a)

c)

a)
c)

10.

'A%B' BT 3% 'B, A F feor A 7'

‘A||B BT A, BF A"

'A@B' F1 344 'B, AF URH T §"

'‘A>B' FTHY'A, BHFIWAR

A~YZ BTAF P A YR zF o TadA @ g
Wi A, Y MR Z TP dqaa @A &'

AYZ FTATEF A YR zF S T A TsT 8
WETA, Y 3Rz Tw Afaw @ dA &

'A1%B' &1 3 B % 'B, A & 1m i1 d §' iR 3mt
ft it R |1

P N13>J3%K7|[L10@M*KO T N & T< ¥ 0 &t
e = 82

'"A%B' means 'B is to the south of A’

'A||B’ means A is to the east of B’

'A@B' means 'B is to the west of A'

'"A>B' means 'A is to the north of B'

'A~YZ' means 'A stands exactly between Y and Z
where A, Y and Z are in a vertical line'

'A*YZ' means 'A stands exactly between Y and Z
where A, Y and Z are in a horizontal line’

'"A1%B' means 'B is 1m to the south of A" and so on.

What is the direction of O with respect to N in the
expression N13>J3%K7||L10@M*KO ?

GT‘R-CIﬁ Northeast b) &I A Southwest

SI&UT South d) Uj East

TR vengaida da e AT adis @
U g 3R T fira 81 srivra & gl

Three of the following four number pairs are alike
in a certain way and one is different. Pick the odd
one out.
519:7

349:6

b) 999:9
d) 737:8

I fawen &1 999 o o seRt &1 wgg g ot
Y@l B T B & g fag v sigr gaen & Raa
RIM $I Hi® ¥ I Ufawiid o ¥Par g

Select the option which has the set of letters which
can sequentially replace the blanks of the given
letter series to complete the series.

G_PLWGBPL_GBP_WG_PLWGB_L__
BWLBPW b) BLBPLW
LWGBGL d PGLWBW

39 fawey &1 999 &< o Y 3ieR Igg | St
TPR Jdfta 3 o 7R gOvT 99g Usd 99g I
el g1

Select the option which is related to the third letter
cluster in the same way as the second cluster is
related to the first cluster.

BEAUTY : CTUAEX :: LEMONS : ?

MNOMER b) MLMORE

ENOLNS d) LNROSM

g &1 faare fOrar A gam g1 awur, g &1 fUar 21
S, TBUT BT 98 ¢ | IS BT {398 To0r A g3 3
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SCHOLARS ACADEMY

a)
c)

11.

c)

12.

a)

c)

13.

a)
c)

14.

a)
c)

3R ITP! Had T T g1 9901 P I 9l 81 &1
awur, i & fore voR wafta 82

Raghav is married to Priya. Tarun is the father of
Raghav. Esha is the sister of Tarun. Sanjana is
married to Tarun and has only one child. Tarun does
not have any daughter. How is Tarun related to
Priya?

lﬂ's: Brother b) IYX Fatherin law
fOdT Father d) QMg Son in law
fiu v fAweul ¥ & 39 NMPpfd &1 99T B ot

fFrafafaa o & vy e (2) @ wfawnfia &=
g gl

Select the figure from among the given options that
can replace the question mark (?) in the following

series.
vl

=2
o™
v N
v LN 8 \N
(gt | V)= | v | gV
8 8 A 8
(1) (11) [¢549) (1)

[ b) |
IV d) Il

faw T wHieRu 7 wEt 9 & e @ §f semnsi

DI AT | IGaT AT AMTQ?

Which two numbers should be interchanged to

make the given equation correct?

17X19 +228 - 8-148=0

17 3R 19 17 and 19 b) 228 3R 148
148

d) 83MR17 8and 17

4
N8|

228 and

19 3R 8 19and 8

TP HIS UTHT H , EFFORTLESS &1 EUUOIGOEHH =7
® wifga far wrar 8, 91 PERCEPTION &T ®Is &1
g2

In a coded language, EFFORTLESS is coded as
EUUOIGOEHH then what will be the code for
PERCEPTION?
KVIXELGRLM

KEIXEKGIOM

b) KEIXEKGRON
d) KEIXELGIOM

ofe ‘@' ®1 A "UrT ¢ &1 4 WS, ‘% BT A
gerd SR 1 &1 3 U B, A A wieie @1 aH
1d iU

If ‘@' means ‘division' '$’' means ‘addition’, '%'
means ‘subtraction’ and '!' means 'multiplication’,
then find the value of the following expression.
213@3%61%$2!14

27 b) 96

92 d) 38

15.

a)

c)

16.

c)

17.

41 fer e uy & fF9 FyF iR ISP 91¢ S e

feuw e €1 e few T HYY B I AT § HA

3 gd3ma aaf ¥ fuT udld gia gf1 eyl &1 ufe

3R gg i Fifsre fr fow e et & @ F9-

T1I/A fred g U F 71d 9 B sagedn sd

g%ﬁqwmﬁmmﬁwwﬁmmmﬁ
|

P2

DYH:

It A1, B2 B
Tt c3, E5 21
I s, A181

frepd:

I. BYE €3, B2 g &1

I. $B A1, C3 1

In the question given below, three statements are
given followed by two conclusions. You have to
take the given statements to be true even if they
seem to be at variance from commonly known facts.
Read the conclusions and decide which of the given
conclusions logically follow from the given
statements disregarding the commonly known
facts.

Statements:

All A1 is B2

All C3 is E5

All E5 is A1

Conclusions:

I. No C3 is B2

Il. Some A1 is C3

Fad | IR HRAT g1 b) T AN | AT 11 SIIRT FHRal
Only | follows 81 Either | or Il follows

| 3R Il SFI SRRV ARA d) Had Il IR Fal gl
%I Both | and Il follow Only 1l follows

39 fawew 3nepfa &1 99+ &3 it & 78 enpfa & uy
% (7) B ufoTia &% gadt § ok Yed & W
HHdl g1

Select the option figure that can replace the
question mark (?) in the given figure and complete
the pattern.

?

A LA

(1) (11) (111) (v)
IV b) Il
I dy |

TR Hdbdl & I HaeA &1 999 Hifeg ot e
W 3t Hie FU 9 gfawanfia s, e o)
Tgferd % T&d gl

Select the combination of mathematical signs that
can sequentially replace the blanks and balance the
equation.
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SCHOLARS ACADEMY

132 _12_8_ 3 __10=25
b) x, + - +
d) x + - +

a) & -+

c) =+ +X-
18. Fafafea e § oF-w1 sieR g vy g o) &t
wfaenfa sem?

Which letter cluster will replace the question mark
(?) in the following series?

FJ, OS, XB, ?
a) El b) HL
c) F d) GK

19. u® fAfya Fifea umar & ATTIC - 82 3R STONE - 62
8, 9 POINT &1 1S T 82
In a certain coded language, ATTIC - 82, STONE - 62
then what is the code for POINT?
a) 78 b) 72
c) 69 d) 61

20. fmfafad vy & IR epfaat & 7€ &1 e & sramar
= wft enpfadt ¥ $9 7 $© WHMGT 81 SRITT
3TPpia a BT
Four figures are given in the following question. All
figures have something in common except one. Find
the odd figure out.

G| [l

m an am av
a) | b) I
c) Il d) Iv

21. 39 fawey &1 999 &¥ &l Ufed Ug 9 I UHR
Haftra 3 forT TR guvT Ug Ugd Ug 9 3R U1 ug
R U 9 wEfla 71
Select the option that is related to the fifth term in
the same way as the second term is related to the
first term and the fourth term is related to the third

term.

5:100::6:180::8:?
a) 440 b) 448
c) 452 d) 464

22. iU TIQ faseal © | I &R TYE BT 94 Diforg ot
Frafafaa e o uy fag ) @t wfowiftg &=
NI
Select the letter cluster from among the given
options that can replace the question mark (?) in the
following series.

BDFH, CFIL, DHLP, ?, FLRX
a) EKPV b) EIQS
c) EJOT d) EJQY

23. 99 IUUr ®I gRIT € 'PQ' W T §, o fqw w
T &1 g8t giur ufafara s1 e &9 |

Mob. - 01141676717,9312712114

Select the correct mirror image of the given
combination when the mirror is placed at 'PQ’' as
shown.

p
2?{SlLgaF@<//Y
Q

M Y\\>®3spl2}sS

an Y\\>®39pl2}<<
am Y\/<®3spl2}S<
av) Y\\>®3spl2}<<
a) | b) I
o) d)y Iv

24. U AfGd BI 3R FIRT HId §¢ WL A Fa1, "ag o
aTaT & fUar 3t gward it 871 98 afe W d g
Pointing to a person, Minu said, "She is the only
daughter of the father of my mother”. How is the
person related to Minu?

a) HIdl Mother
c) dg Sister

25. AR ccafM s il A @S AV, ES
q1¢ 99 W 9T W 99 H Ig a1 =yT e ATl S, R
& S ST UTI P, R & 3T dfdp Y & fid @ST UTI R
& oM fpaq safda @ &
Six people were standing in a queue to get into a
bus. Y boarded the bus after E. W was the fourth
person to board the bus. S was standing behind R. P
was standing ahead of R but behind Y.
How many people were standing ahead of R?

a) 4 b) 5
c) 2 d) 1

b) 3fidt Aunt
d) Tdl Wife

[ GENERAL AWARENESS ]

26. qaiwR ¥ vgen wdifed smamw wax few o= A
T T[T

In which state the first compressed biogas plant in
the Northeast was built?

a) USE Punjab
c) XISIRYTT Rajasthan

27. TRAyH S ufRFTIYS  Ferwmarel

The sacred text of Zoroastrianism is called .
a) dIG Tanakh by fAfte® Tripitaka
c) 37O Avesta d) 3FTHYI Agamas

28. ﬁa%’w T T3T WATS/Y-T5 (ASATFS) S/ BIH-
T 27

Which is the world's largest landlocked country?

a) IWfFEM Uzbekistan b) @ﬁﬁﬂ‘[ Turkmenistan
c) TIfdbed™ Pakistan d) Hlhd Kazakhstan

Page 4
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SCHOLARS ACADEMY

29.

a)
c)

30.

a)
c)

31.

a)

c)

32.

c)

33.

a)

c)

34,

a)

c)

35.

a)

P9 T I 19 g1 | 100% YAd Aead faggdiaeon
TS = AT UgaT HRA 374 a1 1 § ?

Which state has recently become the first Indian
state to achieve 100% railway network
electrification?

BT Haryana b) FRWUS Jharkhand
T Madhya Pradesh d) JTRUC Uttar Pradesh

TSt S Dt TP U Sl gidi Pt oS! DI HoIgdl I
AgS! 3R viae #1 g5 | Tiwh 8, 3_ F =Y
H ST ST 31

A layer of connective tissue that binds the roots of
the teeth firmly to the gums and jawbone is known
as .

Rarei<d foRmi b) <duUTg Dentin

Periodontal ligament

&l Pulp

CaS0, .1/2 H,0 P T Sl SITdT 2
CaS0,; .1/2 H,0 is called

d) <d Cementum

e Cement b) WReX 31 URY Plaster
of Paris
f&X™ Distemper d) P99 Canvas

Wﬁﬁﬁﬁﬁﬁmmmmw

Which of the following deficiency is the most
common cause of goiter?
b) dIeT Iron

AT Selenium
SMNSH lodine d) SRl Zinc

WAt 2023 ® gy sratad § FRRe & w0 A
e forge forar mar

Who was appointed as director in Prime Minister's
Office in February 2023?
dieg it VS Khichi b) dferar

Lalithalakshmi

et

Ioid PHR Ranjeet d) MHTIIA Shamika Ravi
Kumar
g 3t a9 ddt 98 g B gy oft

g 14 §RT 13 F9a, 2023 &) IRV § @
foam T AT

The world's longest river cruise was
launched by the Prime Minister Shri Narendra Modi
on 13 January, 2023 in Varanasi.

W TR Ganges b) THdl T fad MV
Voyager Ganga Vilas

T HeRN Ganges d) Ufd= T Sacred Ganges
Maharaj

YR fpde dAa ¥ 39T ugar Icc frde
fay wu e

Indian cricket team has won its first ICC cricket
world cup on:

1975 b) 1983

c)

36.

a)

c)

37.

a)

38.

a)

c)

39.

a)

c)

40.

a)

41.

1979

fFafafaa o1 e &3
1. AIgMG HIGH FHIadl

d) 1987

a. ANTg Higre
b. ¥EAfET e
c. §dsg Agad

d. Fagd Hd-"3eHT

2. fiatf @ ergHE
3. 99g gHg ®F

4 HIE 3{@ e HTHATG
5 farsdt TaeT

Match the following:

a Aligarh movement 1.Mohammad Qasim Nanatavi

b. Ahmadiya movement | 2. Mirza Ghulam Ahmed

c.Deoband movement | 3.3yed Ahmad Khan

d.Nadwat al-'ulama’ 4 Maulana Abul Kalam Azad

5 Shibli Nomani
a-2,b-3,c-5,d-1 b) a-3,b-1,c-2,d-4
a-3,b-1,c-2,d-5 d) a-3,b-2,c-1,d-5
TR mﬁé‘f & wifdert a9 &t e gemag
f AT |

The Ghadr Party was a revolutionary group with its

headquarters at:
b) é@? Vancouver

Ui3H ST West Bengal
FfelF Berlin d) 7 paIResa San
Francisco

oAt wigar o aftg wfgar ot a4 =1
a7
Vajasaneyi Samhita and Taitriya Samhita are the

two main branches of:
b) qgaﬁ Yajur Veda

Hdg Rig Veda
HHdE Sama Veda d) 3Yd dg Atharva Veda

TR g Yy e Wi F THIH & 91g TRt
9 Bt T grrar fora-i 82

What is the installed capacity of NTPC Group after
integration of Maitri Super Thermal Power Plant?
60,000 FIEIE 60,000 b) 65,000 HIMEIC 65000 MW
MW

70,304 TRTEIE 70,304 MW d) 72,304 TIETE 72,304 MW

TSt fagr faw 2023 o1 fw T 32

What is the theme of National Science Day 2023?

e IR BR Y b) WA IEI BR TG

Global Science for Youth 27T Global Science
for Global Wellbeing

Y CHANT BR TR d) WEd SAORE BR TR

New Technology for Global Innovation  for

Future Future

YR PR 9 T Her St IR ford Y
YT BT |

Mob. - 01141676717,9312712114
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a)
c)

42.

a)

c)

43.

a)

c)

44,

a)

45.

a)

c)

46.

47.

a)

Government of India established the Nanda Devi
Biosphere Reserve in:

1956
1982

IE] TF a1 I F Rygia o snea g1

Goods and Services Tax is based on the principle of:

b) 1973
d) 2004

Tiaeg-3fuTiRd JOURT b) TA-3MURd  HAYH &I
PRIYT Destination- Rrgid Principle  of
based consumption origin-based taxation
taxation

a 3R b3l Bothaand d) IMadRIE b Neither
b anorb

Frafafea #§ 9§ 5w agemug ok St wwuT &1

foram T &2
Which of the following Mahajanapada and their
capital is incorrectly matched?

IS - HUFERT Vajji - b) YR - J&RIAT Gandhar
Kusinara - Taxila
I - PIE Vatsa - d) TIY - IASAIR Magadh -
Kausambi Rajgir

fFafafea & @ #1991 TR w el 3= #t
wfayfadl, S wie iR I 3t Wilg o wehla
ST 87

Which of the following refers to the purchase of
securities of foreign countries, such as stocks and
bonds, on an exchange?

gezft Uicwiferar fawr b) Ul fac=h Fax Foreign
Foreign Portfolio Direct Investment
Investment

Non-

faq=l Qa1 fAa Foreign d) SifFarl  Fdw

Retail Investment resident Investment
fFrafafea # 4 5 “dfaum &1 9Ree Fer ordr 82
Which/who among the following is called the
"Guardian of the Constitution"?

RITYfd President b) I=dH TR Supreme
Court
UXATGAT Preamble d) CAG

TES AU b G-I IRgPR foran &Y “fEg-gfeam
Tl T Ielgd” fan wgr un

Who called Jinnah, the chief architect of the
Lucknow Pact, "the Ambassador of Hindu - Muslim
Unity"?

TR A AgE b) WIGE ARG

Jawaharlal Nehru Naidu

Sarojini

e Tt Mahatma d) SR, SfESH B R
Gandhi Ambedkar
ISR & TRUNS I & a1 Rigra w ug=

qTelT TR HTA IS TSIT yr?
Who was the only Mughal king to ascend to the
throne without the customary war of succession?

A Humayun b) SI8FIR Jahangir

c)

48.

c)

49.

a)

c)

50.

a)

<)

51.

a)
c)

52.

a)
c)

53.

a)
c)

54.

a)

HphdaY Akbar d) RIS Shahjahan

Frafafaa & 3 o= @ fird) sarargdt agET ok amar
Tt g

Which of the following soil is made up of volcanic
rocks and lava?

W ﬁ@ Regur Soil

o1 fAEt Red soil

b) qﬂ?ﬂ'&ﬁ?{ Mountain soil
d) dexRe ﬁ@ Laterite soil

3t aifiarg a1 diw =fa, P g Sifaa
FTAT I

Luminous flux, or luminous power, is the measure
of the perceived power of

&M sound
STgdl humidity

fFafafea & ¥ o9 SRuE &1 gHe JOR w1 F
1T 1928 & nfea Afifa & sremer &2

Who among the following was the chairman of the
committee formed in 1928 to draft a constitution?
WA A Ag® b) YU d% §N9 Subash
Jawaharlal Nehru Chandra Bose

I ISOEERT € d) Adiad A8® Motilal
Rajagopalachari Nehru

b) $HCHT heat
d) UPRI light

[ QUANTITATIVE APTITUDE ]

Tfe ASTU ®, ST = 23 SPTE, TU = V21 SHTS 3T US
= 3V3 TPTE B, @ LTSU &T 0 fFrad aRTar 22

If in ASTU, ST = 2V3 unit, TU = V21 unit and US =
3v3 unit, then the value of 2TSU is equal to:

60° b) 30°
90° d) 45°
giTa=(V6-V5).b=(5-2)3Rc=2-V3)® @
faffea A I s T adt &2

Ifa=(V6-V5),b=(V5-2)and c = (2 - V3), then
which of the following is correct?

a<b<c b) a>b>c
a=b=c d) a>b<c
Frufafea # § o14-9 ven 3 9 Jusa &2
Which of the following is divisible by 3?
1527104 b) 2527104
3527104 d) 4527104

A 3T B &) T3l # ¥ 59 A ® 50% @1 gfg & wreht
? 3k B ® 25% ¥t w1 F} Wt B, <t ITHT AT
117 AT R A, BHF SR A 32 FU I B 25% BT
HE 1 B

Among two numbers A and B, when A is increased
by 50% and B is decreased by 25%, then their sum
becomes 117. A is 32 less than twice of B. Find the
value of 25% of B.

12 b) 10

Mob. - 01141676717,9312712114
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c)

55.

a)
)

56.

c)

57.

a)

58.

a)
c)

59.

11 d) 9

3 ¢ ampfa #, PQ, PR 3R TU TH g9 @Y Tu=f Y@l
g1 3f¢ PQ = 12 cm 3R SU = 4 cm, df PU Tt AT
it 32
In the given figure, PQ, PR and TU are tangents to a
circle. If PQ = 12 cm and SU = 4 cm, then the length
of PU is:

UN\_R
6 cm b) 8cm

d) 9cm

W9 Had Il W N B 20, 24, 35 3R 50 A
faurfra fSran wimar 8, &Y ude fRufy & Jwwa & =u
H UM EIAT 2 I N P SPTS & 3P R APS & 3P
o &7 SR fpamT 82

When the smallest number N, is divided by 20, 24,
35, and 50, has in each case 9 as remainder. The
difference between the unit digit and hundredth
digit of N.

10 cm

7 b) 5
6 d) 4
frufafaa sowie de &1 A F19 FIRT: Cos?e -

Sin?28 = 0, SIET 0° < O < 90° 71
Find the value of 6 in the following expression
Cos’0 - Sin’20 = 0. Where 0° < 6 < 90°

15° b) 30°
45° d) 60°
gfe fRRR & # 19 &1 91 (X + 10) km/hr @ 3R URT

P T (X - 5) km/hr &, A 1d GRT URT & 3AHA
200 km Pt I FA H Foran TT W 8 we B S
YRT & UfAPHd 45 km 3R URT & 3IHA 50 km 9
# foram awg @Rm

If the speed of a boat in still water is (X + 10) km/hr
and speed of the stream is (X - 5) km/hr, then the
time taken by the boat to travel 200 km with the
current is 8 hours. How much time will it take to go
45 km upstream and 50 km downstream?

6 T 6 hours b) 4 €<l 4 hours
5dcT 5 hours d) 8%HcT 8 hours
The pie- chart shows the breakup in percentage of the

various expenses of a Company. Study the diagram and
answer the following questions.

urs- aré fdt Suit & fafirs @l & ufawra & Mawra
?mél mmawﬁeﬁ?ﬁaﬁﬁaugﬁ'
IW [

a)

c)

60.

a)
c)

61.

a)

c)

62.

a)

Re
Transport
qﬁaﬁ s Salaries
159 ﬁf;
Interest
10%
Electricity Raw materials
fa IE“ 309
25%

Which is the second biggest expense of the company?

HU T GERT TG T1 Wd B A1 82
Raw materials @I HIT  b) Salaries Gl
Transport gfkag d) Electricity forett

T® a¥g & 3ifpd Yeu W 12% Pt g A & 91¢ &
IPTER &Y 21% HT @Y ghaT g1 i axg &t fomm
ot ge & sifra gea W AT WTaT B, @Y PR BT
Y ufRrd Jrd Fifee|

A shopkeeper gains 21% after allowing a discount
of 12% on the marked price of an article. Find his
profit percent, if the article is sold at marked price
allowing no discount.

30% b) 35%

37.50% d) 31.50%

TWT 3T § MY TP US ge ATal 31 geT g3l YT 59
TPR g& Ja1 ¢ & U5 o1 M, yfH & "y 30° 31
PV AT 71 G IS F SMUR IR ¥5 F M gy
T ) Wxf F1 & fig & o Fr g 17 Hex g, @
U ® ST J1d FIRTYI (m H)

A storm comes and a tree breaks. The broken part
bends so that the top of the tree makes an angle of
30° with the ground. Find the height of the tree if
the distance between the foot of the tree and the
point where the top touches the ground is 17
metres. (In m)

1743
3443

TP IR # 50 L U1 81 399 9 5 L gt e S @
3R ITH! U AT H g § ufawuria $7 faar wrar
?1 IS 1 YT F 20 L F) @®E X I 99 90
wferuTira ®= fea simar g1 sifew fysyor & ureht, ava x
3R g FT Jaftra SrguTa 1a BT

A jar contains 50 L of water. 5 L of water is taken
out of it and replaced by the same quantity of milk.
After that 20 L of the mixture is replaced by the
same quantity of liquid X. Find the respective ratio
of water, liquid X, and milk in the final mixture.

27:20:3 b) 27:3:20

b) 17/V4
d) 34/V4
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c)

63.

a)
c)

64.

a)
c)

65.

a)
c)

66.

c)

67.

a)

68.

a)
c)

69.

a)

24:3: 20 d) 24:4:25

g 7b -2 = 4b +13 €, a1 (b +3)° =2
If 7b -2 = 4b +13, then (b +3)® =2

512 b) 513

729 d) 324

MG (x + y) = 12 3R xy = 20 8, & (x* - y?) BT AH
A Y |

If (x +y) = 12 and xy = 20, then find the value of
o -y%).

88 b) 80

104 d) 9

gfe 3 fpdpe Nl F1 YT = AT VS F 2 TS FT T &l

AT VS & 3 IS BT YA = 2 SISl ] &1 Jed 81 3
S gwaT &1 Yed = 2 fbde 8¢ 1 g 31 it T
gﬁwazmawa 54 g, o fopdre i &1y foramn
?

If cost of 3 cricket balls = cost of 2 pairs of leg pads.
Cost of 3 pairs of leg pads = cost of 2 pairs of
gloves. Cost of 3 pairs gloves= cost of 2 cricket bats.
If a cricket bat costs Rs.54, What is the cost of a
cricket ball?

312 b) 314
.16 d) .18
MR x* + y* = 96 3R (x +y) = 88, Bxy + 1)2 BT

UM {1d Bifere|

If x> + y* = 96 and (x + y) = 8, then find the value of

(3xy + 1)2.
2809 b) 2916
2601 d) 2401

sec’A + (1/sin2A) - (secZA/sinzA) ¥ HHE B 0T
|

Calculate the value of sec®A +

(sec®A/sin?A).

2 b) 1

0 d) -1

TP TATH 3P Bl HATS 35 cm & 3R THP YR BT
EAHT 256 cm2 §1 TP PI &HaT dieX A ol 32
Height of a cuboidal tank is 35 cm and the area of
its base is 256 cm2. What is the capacity of the tank
in litres?

(1/sin?A) -

6.72 b) 7.84
8.96 d) 11.2
i feu e IR # x &1 9 31d Sifee)

Find the value of x in the equation given below.
318 * 2?4)( 1
92 32:-:—4

-9/5 b) -4/3

= 81

c)

70.

a)

c)

71.

a)
c)

72.

a)

c)

73.

-5/3 d) -7/5

Students from different countries (A, B, C, D, E, F)
participated in a certain seminar. The pie-chart shows how
many students came from each of the six participating
countries. Study the diagram and answer the following
questions.

faft 3= (@ &, &, &Y, §, Tw) & o A e ffia
AR &y foran | urg-ad | yar Ierar @ & v as
aTel B8 <X A ¥ TP | fhaq B9 3T 31 3 &1
g oY R fmfafea us IW 2

F. 5

S N

A, 25

B, 30

The biggest contingent of students was from which
country?

BHE B GaA TS ghel [T A Az
A b) C
B d) D

4000 ¥W F TH YR 2 g F aiffe & 4@
Tehgied B aTdl STl BI R% Ufd 96 Bt a3 A 4494.4
FUA g AT 81 R BT A fbam 82

A sum of Rs.4000 amounts to Rs.4494.4 at R% per
annum in 2 years, when interest is compounded
annually. What is the value of R?

6 b) 8

10 d) 12

fig 0 T® g9 #T1 Fx & ord farg Ac 3R BD Ht
e W 3 g £ R fadt § 9 AB =™ B
gfe,coD=62° §, @ LAEB &T HIY 8-

O is the centre of a circle with chords AC and BD
meet at the point E when produced, and AB is the
diameter. If 2COD=62° then the measure of £AEB is
64° b) 59°

54° d) 60°

Following table represents the range of weight (in
kg) of a group of 250 people.

Weight (in kg)

25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55

Number of people | 24 40 60 64 32 30

a)
c)

Weight of what percent of people of the group lies
in between 40 kg and 50 kg?

38.4% b) 78.2%
72.6% d) 66.8%

Mob. - 01141676717,9312712114

Page 8




SCHOLARS ACADEMY

74.

a)
c)

75.

a)
c)

76.

a)

c)

77.

a)

c)

78.

a)

c)

79.

TP 99 a4d P $T $d Y8 AT6d 1848 cm’ gl
gfe Ta fad® "WF? g Oeu 3t Qi 8, @
P &b YR BT ATEE BT 82 (= 22/7 AQ)

The total surface area of a right circular cone is 1848
cm’. If its slant height is two times its radius, then
what is the area of the base of the cone? (take 1 =
22/7)

616 cm”
308 cm®

b) 225cm?’
d) 445 cm?

gfe 'x' afeal &1 v ayg e ol &1 X' =i 4 gy
P HHAl ¢ 3R afG 'y T | aafed fosdt safeaa
PRI Y AV AfFTal S Y FEANT 781 H2 U § 3R
o BTz R & g 2, < it § | o-
1 fawed wed 82

If a group of ‘X' people can complete a work in 'X'
days and if 'Y' number of people can not cooperate
with the remaining ones due to some personal
reason and the work is now completed in ‘'Z' days,
then which of the following option are true?

Y =2Z(X-2)/X b) Y=XX-2)/z
Y =Z(Z - X)/X d) Y=X(EZ-X)/Z

[ ENGLISH ]

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

We came back because we had ran out of money.

No improvement b) We had run
required
We run d) We have ran

Select the most appropriate meaning of the given
idiom.
Show a clean pair of heels

to escape tactically b) to run away extremely

fast

to hide at once d) to actinnocent

The following sentence has been split into three
segments. Ildentify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

Radhika casually mentioned her visit / to the
cottage but did not / refer to the man she had saw.
Radhika casually b) to the cottage but did not

mentioned her visit
No error d) refer to the man she had

Saw

The following sentence has been split into three
segments. ldentify the segment that contains a

a)

c)

80.

a)
c)

81.

a)

c)
82.
a)

83.

a)

c)

84.

c)

85.

a)

86.

a)

grammatical error. If the sentence is error free,
mark 'No error' as your answer.

On the desk, she found his address book, / and after
hunting through it for a while, she picked up / the
phone and dialling a number.

On the desk, she found b) the phone and dialling a

his address book, number

No error d) and after hunting
through it for a while, she
picked up

Select the most appropriate option to fill in the
blank.

Giant planets like Jupiter and Saturn have a solid
planetary core beneath a thick of
hydrogen and helium gas.

Surround b) Engulf
Envelope d) Veil
Select the most appropriate synonym of the given

word.

Replicate
Modify b) Recreate
Smash d) Recollect

Select the INCORRECTLY spelt word.
b) Frost
d) Virtous

Incubate
Frown

Select the most appropriate ANTONYM of the given
word.

Fastidious
Relentless b) Fatal
Careless d) Scrupulous

Select the option that can be used as a one-word
substitute for the given group of words.

A person who composes the sequence of steps and
moves for a performance of dance.

MORTUARY b) CHAUFFEUR

LITHOGRAPHY d) CHOREOGRAPHER

Select the option that can be used as a one-word
substitute for the given group of words.

A person who believes that humans are only
motivated by selfishness and their own interests.
CYNIC b) CHAUFFEUR

IMPRESARIO d) DEBONAIR

Select the most appropriate synonym of the given
word.

Oblivious
Alleviate b) Informed
Blasphemous d) Clueless
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87.

a)
c)

88.

a)
c)

89.

a)
c)

90.

a)
c)

91.

a)
c)

92.

a)
c)

93.

Select the most appropriate synonym of the given
word.

Churlish
Rude b) Sanguine
Civil d) Vehement

Select the correctly spelt word to fill in the blank.
During hot days, he had a for walking

around in just his boxers.
Propencety b) Propencity

Propensity d) Propansity

Select the most appropriate synonym of the given
word.

Impressive
Ordinary b) Majestic
Mediocre d) Fresh

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent
paragraph.

A. A salt seller used to carry the salt bag on his
donkey to the market every day.

B. One day the donkey suddenly tumbled down the
stream and the salt bag also fell into the water.

C. On the way they had to cross a stream.

D. The salt dissolved in the water and hence the bag
became very light to carry.

ACDB b) ACBD
ABDC d) ABCD

(91 - 95)In the following passage, some words have
been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank.
The holiday season can be a/an (A) time, but
it can also be incredibly stressful for many people -
especially when we (B) or marginalize our
self-care. According to the American Psychological
Association, 38% of people surveyed said their
stress (C) during the holiday season,
(D) can lead to physical illness, depression,
anxiety, and substance misuse. The reasons
(E) were lack of time, financial pressure, gift-
giving, and family gatherings.
Select the most appropriate option to fill in the
blank A.

Exciting
Difficult

b) Trying
d) Worrying

Select the most appropriate option to fill in the

blank B.
Emphasise b) Ignore

Relate d) Relax

Select the most appropriate option to fill in the
blank C.

a)

94.

a)

c)

95.

a)
c)

96.

a)

c)

97.

a)

c)

98.

a)

99.

a)

c)

100.

c)

Deduced
Improved

b) Increased
d) Decreased

Select the most appropriate option to fill in the
blank D.

Who
Whom

b) Which
d) Whose

Select the most appropriate option to fill in the
blank E.

Demanded b) Acquired

Given d) Dictated

Select the option that expresses the given sentence
in direct speech.

The doctor said that he would be going to a
conference the following week.

The doctor said, "I will b) The doctor said, "l am
have to go to a going to a conference
conference next week." next week."

The doctor said, "l have
to go to a conference
next week."

The doctor said, "l will be d)
going to a conference
next week."

Select the option that expresses the given sentence
in passive voice.

You were to visit your aunt's place.

Your aunt's place was to b)
be visited by you.

Your aunt's place is to be
visited by you.

Your aunt's
visited by you.

place is d) Your aunt's place were

visited by you.

Select the most appropriate ANTONYM of the given
word.

Devious
Unethical b) Honest
Tortuous d) Deceitful

Select the option that will improve the underlined
part of the given sentence.

She had faced much humiliation due to hers worn-
out shoes.

hers worn shoes b) her worn-out shoes

his worn-out shoes d) his worn shoes

Select the most appropriate meaning of the given
idiom.

Improve the shining hour

To make the most of b) To take your work very

one's time seriously
Have a chance of success d) To work an excessive

amount every day
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